Event Number P-41-20

Event Title Gateway Stormwater Improvements

Event Type ITB

 Issue Date
 10/1/2020 02:00:01 PM (ET)

 Close Date
 11/30/2020 02:00:00 PM (ET)

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
DBF CONSTRUCTION LLC	Pompano Beach	FL	11/30/2020 11:56:03 AM (ET)	60	\$2,285,937.50
ENCO, LLC	Pembroke Park	FL	11/30/2020 01:41:45 PM (ET)	60	\$2,413,515.00
Man-Con Incorporated	Deerfield Beach	FL	11/30/2020 01:58:55 PM (ET)	60	\$2,850,275.00
Southern Underground			11/20/2020 11:42:27 ANA (FT)	60	
Industries	Pompano Beach	FL	11/30/2020 11:42:27 AM (ET)	60	\$2,989,062.00
C&W pipeline,inc.	Opa-locka	FL	11/30/2020 12:21:56 PM (ET)	60	\$3,154,475.00
DP Development, LLC.	Pompano Beach	FL	11/30/2020 10:12:15 AM (ET)	60	\$3,173,768.42
Intercounty Engineering, Inc.	Pompano Beach	FL	11/30/2020 01:35:34 PM (ET)	60	\$3,230,321.97
Foster Marine Contractors, Inc.	Wellington	FL	11/30/2020 10:44:10 AM (ET)	60	\$3,334,270.00
David Mancini & Sons, Inc.	Pompano Beach	FL	11/30/2020 01:04:49 PM (ET)	60	\$3,462,738.00
Stanford Construction					
Company (Stanford & Sons			11/30/2020 11:05:59 AM (ET)	60	
Trucking Corporation)	Pompano Beach	FL			\$3,599,119.09
Lanzo Construction Company					
(Lanzo Construction Co.,			11/30/2020 01:16:00 PM (ET)	60	
Florida)	Deerfield Beach	FL			\$4,390,327.00

				DBF CONSTRUCTION LLC		ENC	O, LLC	Man-Con Incorporated		
				3710 Park C	entral Blvd N.	5411 S.W	. 25th Court	3460 S.W.	11th Street	
				Pompano Be	ach, Fl 33064	Pembroke P	ark, FL 33023	Deerfield Be	ach, FL 33442	
Line#	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	
1	Site Mobilization/ Demobilization	1	LS	\$35,000.00	\$35,000.00	\$20,500.00	\$20,500.00	\$140,000.00	\$140,000.00	
2	Bonds and Insurance	1	LS	\$36,000.00	\$36,000.00	\$78,000.00	\$78,000.00	\$21,348.00	\$21,348.00	
3	Maintenance of Traffic	1	LS	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$35,000.00	\$35,000.00	
4	As-Built Record Drawings	1	LS	\$53,250.00	\$53,250.00	\$10,000.00	\$10,000.00	\$65,000.00	\$65,000.00	
5	NPDES Permit/Erosion Protection									
5	Measures/Turbidity Barriers	1	LS	\$15,000.00	\$15,000.00	\$5,500.00	\$5,500.00	\$29,400.00	\$29,400.00	
6	Professional Video & Construction									
0	Photographs	1	LS	\$6,500.00	\$6,500.00	\$3,000.00	\$3,000.00	\$16,000.00	\$16,000.00	
7										
	Concrete Sidewalk Restoration (4" thick)	90	SF	\$68.00	\$6,120.00	\$7.50	\$675.00	\$16.00	\$1,440.00	
8	Asphalt Driveway Apron Replacement	23000	SF	\$4.20	\$96,600.00	\$2.80	\$64,400.00	\$3.00	\$69,000.00	
9										
	Type D Curb Removal and Replacement	50	LF	\$67.50	\$3,375.00	\$25.00	\$1,250.00	\$29.00	\$1,450.00	
10	Curb Ramp with ADA-Compliant Tactile									
10	Surface Mat per FDOT Index 522	1	EA	\$2,820.00	\$2,820.00	\$2,500.00	\$2,500.00	\$2,345.00	\$2,345.00	
11										
11	Remove Existing Pavement & Install Sod	380	SY	\$12.50	\$4,750.00	\$15.00	\$5,700.00	\$22.00	\$8,360.00	
12	Pavement Markings	1	LS	\$16,500.00	\$16,500.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	
13	Open Cut Pavement Trench Repair (12"-18"									
15	RCP Drainage Pipe)	4100		\$25.40	\$104,140.00	\$24.00	\$98,400.00	\$37.00	\$151,700.00	
14	Open Cut Pavement Trench Repair (24"-30"									
17	RCP Drainage 14Pipe; 19"x30" ERCP									
	Drainage Pipe; 24"x38" ERCP Drainage	810	LF	\$31.35	\$25,393.50	\$30.00	\$24,300.00	\$38.00	\$30,780.00	
	Open Cut Pavement Trench Repair (36"-48"									
15	RCP Drainage Pipe; 29"x45" ERCP Drainage									
	Pipe)	2600	LF	\$46.55	\$121,030.00	\$33.00	\$85,800.00	\$37.00	\$96,200.00	

				DBF CONSTRUCTION LLC ENCO, LL		O, LLC	Man-Con Incorporated		
				3710 Park C	entral Blvd N.	5411 S.W.	25th Court	3460 S.W.	11th Street
				Pompano Be	each, Fl 33064	Pembroke P	ark, FL 33023	Deerfield Bea	ach, FL 33442
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
16	Type C Drainage Inlet w/Casting	46	EA	\$1,790.00	\$82,340.00	\$3,500.00	\$161,000.00	\$2,436.00	\$112,056.00
17	Type E Drainage Inlet w/Casting	9	EA	\$2,495.00	\$22,455.00	\$4,000.00	\$36,000.00	\$3,509.00	\$31,581.00
18	Type E Drainage Inlet w/Casting & PRB	1	EA	\$3,700.00	\$3,700.00	\$5,000.00	\$5,000.00	\$5,107.00	\$5,107.00
19	8' Diameter Manhole w/Casting	1	EA	\$8,720.00	\$8,720.00	\$10,000.00	\$10,000.00	\$9,381.00	\$9,381.00
20	7' Diameter Manhole w/Casting	3	EA	\$8,450.00	\$25,350.00	\$10,000.00	\$30,000.00	\$7,590.00	\$22,770.00
21	6' Diameter Manhole w/Casting	5	EA	\$3,645.00	\$18,225.00	\$5,000.00	\$25,000.00	\$5,986.00	\$29,930.00
22	6' Diameter Manhole w/ PRB	1	EA	\$5,590.00	\$5,590.00	\$10,000.00	\$10,000.00	\$6,856.00	\$6,856.00
23	5' Diameter Manhole w/Casting	3	EA	\$2,900.00	\$8,700.00	\$4,000.00	\$12,000.00	\$5,428.00	\$16,284.00
24	5' Diameter Manhole w/Casting & Inlet	9	EA	\$2,900.00	\$26,100.00	\$4,000.00	\$36,000.00	\$5,428.00	\$48,852.00
25	5' Diameter Manhole w/Casting & PRB	1	EA	\$3,995.00	\$3,995.00	\$5,000.00	\$5,000.00	\$6,134.00	\$6,134.00
26	4' Diameter Manhole w/Casting	6	EA	\$2,500.00	\$15,000.00	\$4,000.00	\$24,000.00	\$4,437.00	\$26,622.00
27	Remove Existing Drainage Structure	24	EA	\$480.00	\$11,520.00	\$600.00	\$14,400.00	\$690.00	\$16,560.00
28	12" RCP Drainage Pipe	45	LF	\$59.00	\$2,655.00	\$68.00	\$3,060.00	\$75.00	\$3,375.00
29	15" RCP Drainage Pipe	1200	LF	\$56.40	\$67,680.00	\$71.00	\$85,200.00	\$62.00	\$74,400.00
30	18" RCP Drainage Pipe	4100	LF	\$62.90	\$257,890.00	\$79.50	\$325,950.00	\$71.00	\$291,100.00
31	30" RCP Drainage Pipe	530	LF	\$101.40	\$53,742.00	\$115.00	\$60,950.00	\$110.00	\$58,300.00
32	36" RCP Drainage Pipe	2700	LF	\$120.00	\$324,000.00	\$139.00	\$375,300.00	\$161.00	\$434,700.00
33	48" RCP Drainage Pipe	975	LF	\$167.00	\$162,825.00	\$188.00	\$183,300.00	\$185.00	\$180,375.00
34	14" x 23" ERCP Drainage Pipe	470	LF	\$79.60	\$37,412.00	\$93.50	\$43,945.00	\$90.00	\$42,300.00
35	19" x 30" ERCP Drainage Pipe	85	LF	\$105.50	\$8,967.50	\$119.00	\$10,115.00	\$140.00	\$11,900.00
36	24" x 38" ERCP Drainage Pipe	200	LF	\$128.75	\$25,750.00	\$146.50	\$29,300.00	\$140.00	\$28,000.00
37	29" x 45" ERCP Drainage Pipe	40	LF	\$162.50	\$6,500.00	\$184.00	\$7,360.00	\$320.00	\$12,800.00
38	Outfall - 35LF-48" CAP, Bank Regrading, Restoration (incl. asphalt sidewalk replacement), Concrete Collar, Rock Rip-Rap & Filter Fabric at C-14 Canal (Dwg. C-26)	1	LS	\$45,650.00	\$45,650.00	\$40,000.00	\$40,000.00	\$48,331.00	\$48,331.00
39	39. Outfall - 35LF-36" CAP with Endwall per FDOT Index 250, Bank Regrading, Restoration, Rip-Rap at B-1 Canal (Dwg. C- 16)	1	LS	\$31,050.00	\$31,050.00	\$16,750.00	\$16,750.00	\$56,778.00	\$56,778.00

				DBF CONSTRUCTION LLC ENCO, LLC		Man-Con Incorporated			
				3710 Park C	entral Blvd N.	5411 S.W	25th Court	3460 S.W.	11th Street
				Pompano Be	each, Fl 33064	Pembroke P	ark, FL 33023	Deerfield Be	ach, FL 33442
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
	Outfall - 20LF-36" CAP with Endwall per								
40	FDOT Index 250, Bank Regrading,								
40	Restoration, Concrete Collar, Rip-Rap at SW								
	14th Ct (Dwg. C-5A)	1	LS	\$35,505.00	\$35,505.00	\$20,000.00	\$20,000.00	\$55,050.00	\$55,050.00
41	Drainage Structure Asphalt Inlet Apron	40	EA	\$800.00	\$32,000.00	\$200.00	\$8,000.00	\$293.00	\$11,720.00
42	Clean Existing Drainage Pipe	530	LF	\$4.00	\$2,120.00	\$20.00	\$10,600.00	\$19.00	\$10,070.00
43	Remove Existing Drainage Pipe	2600	LF	\$9.90	\$25,740.00	\$10.00	\$26,000.00	\$14.00	\$36,400.00
44	Connect to Existing Drainage Pipe								
44	w/Concrete Collar	7	EA	\$2,750.00	\$19,250.00	\$800.00	\$5,600.00	\$1,800.00	\$12,600.00
45	Swale Grading & Sod	13300	SY	\$8.00	\$106,400.00	\$8.00	\$106,400.00	\$9.00	\$119,700.00
46	Stormwater Bypass Pumping	1	LS	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$35,780.00	\$35,780.00
47	Remove & Dispose of Trees	6	EA	\$525.00	\$3,150.00	\$400.00	\$2,400.00	\$410.00	\$2,460.00
48	Tree Protection	1	LS	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$9,714.00	\$9,714.00
49	Landscape (Tree) Installation w/ Bubbler,								
49	Including Maintenance	6	EA	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00	\$12,136.00	\$72,816.00
50									
30	Remove & Reinstall Existing Traffic Sign	5	EA	\$1,495.00	\$7,475.00	\$150.00	\$750.00	\$762.00	\$3,810.00
51	Furnish & Install New Sign	2	EA	\$1,385.00	\$2,770.00	\$350.00	\$700.00	\$176.00	\$352.00
52	Furnish & Install New Sign Post	2	EA	\$855.00	\$1,710.00	\$200.00	\$400.00	\$410.00	\$820.00
53	Remove Abandoned Force Main	50	LF	\$15.25	\$762.50	\$20.00	\$1,000.00	\$36.00	\$1,800.00
54	Flowable Fill	50	CY	\$135.00	\$6,750.00	\$300.00	\$15,000.00	\$124.00	\$6,200.00
55	Replace Sanitary Sewer Laterals	20	EA	\$1,925.00	\$38,500.00	\$1,800.00	\$36,000.00	\$1,678.00	\$33,560.00
56	Miscellaneous Restoration	1	LS	\$4,500.00	\$4,500.00	\$15,000.00	\$15,000.00	\$12,898.00	\$12,898.00
57	Existing Utility Relocation/Coordination								
	w/Existing Utility Companies	1	AL	150000	\$150,000.00	150000	\$150,000.00	150000	\$150,000.00
58	Furnish Landscape (Tree) Material	1	AL	15000	\$15,000.00	15000	\$15,000.00	15000	\$15,000.00
59	Permit Fees Allowance	1	AL	5000	\$5,000.00	5000	\$5,000.00	5000	\$5,000.00
60	Indemnification	1	AL	10	\$10.00	10	\$10.00	10	\$10.00
				Total Price	\$2,285,937.50	Total Price	\$2,413,515.00	Total Price	\$2,850,275.00

			ĺ	Southern Underground Industries		C&W pi	peline,inc.	DP Develo	pment, LLC.	Intercounty Engineering, Inc.	
				1454 S.\	W. 13th Court	13101 N.W.	42nd Avenue	2240 N.W.	22nd Street	1925 N.W	18th Street
				Pompano I	Beach, FL 33069	Opa-Lock	a, FL 33054	Pompano Be	ach, FL 33069	Pompano Be	each, Fl 33069
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1	Site Mobilization/ Demobilization	1	LS	\$80,000.00	\$80,000.00	\$150,000.00	\$150,000.00	\$198,971.74	\$198,971.74	\$152,828.00	\$152,828.00
2	Bonds and Insurance	1	LS	\$65,000.00	\$65,000.00	\$60,000.00	\$60,000.00	\$34,314.86	\$34,314.86	\$72,075.00	\$72,075.00
3	Maintenance of Traffic	1	LS	\$34,000.00	\$34,000.00	\$48,000.00	\$48,000.00	\$36,761.84	\$36,761.84	\$110,757.00	\$110,757.00
4	As-Built Record Drawings	1	LS	\$24,500.00	\$24,500.00	\$65,000.00	\$65,000.00	\$12,856.66	\$12,856.66	\$22,380.00	\$22,380.00
5	NPDES Permit/Erosion Protection										
5	Measures/Turbidity Barriers	1	LS	\$29,000.00	\$29,000.00	\$800.00	\$800.00	\$35,885.87	\$35,885.87	\$52,103.00	\$52,103.00
6	Professional Video & Construction										
0	Photographs	1	LS	\$5,000.00	\$5,000.00	\$11,500.00	\$11,500.00	\$2,932.63	\$2,932.63	\$1,412.00	\$1,412.00
7											
/	Concrete Sidewalk Restoration (4" thick)	90	SF	\$40.00	\$3,600.00	\$25.00	\$2,250.00	\$9.97	\$897.30	\$10.20	\$918.00
8	Asphalt Driveway Apron Replacement	23000	SF	\$9.00	\$207,000.00	\$8.00	\$184,000.00	\$3.94	\$90,620.00	\$8.66	\$199,180.00
9											
9	Type D Curb Removal and Replacement	50	LF	\$95.00	\$4,750.00	\$38.00	\$1,900.00	\$49.26	\$2,463.00	\$28.24	\$1,412.00
10	Curb Ramp with ADA-Compliant Tactile										
10	Surface Mat per FDOT Index 522	1	EA	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$1,767.45	\$1,767.45	\$2,118.00	\$2,118.00
11											
11	Remove Existing Pavement & Install Sod	380	SY	\$15.00	\$5,700.00	\$26.00	\$9,880.00	\$23.72	\$9,013.60	\$12.71	\$4,829.80
12	Pavement Markings	1	LS	\$22,500.00	\$22,500.00	\$7,500.00	\$7 <i>,</i> 500.00	\$15,715.98	\$15,715.98	\$30,076.00	\$30,076.00
13	Open Cut Pavement Trench Repair (12"-18"										
13	RCP Drainage Pipe)	4100		\$35.00	\$143,500.00	\$34.00	\$139,400.00	\$66.02	\$270,682.00	\$47.54	\$194,914.00
14	Open Cut Pavement Trench Repair (24"-30"										
14	RCP Drainage 14Pipe; 19"x30" ERCP										
	Drainage Pipe; 24"x38" ERCP Drainage	810	LF	\$42.00	\$34,020.00	\$37.00	\$29,970.00	\$76.86	\$62,256.60	\$58.77	\$47,603.70
	Open Cut Pavement Trench Repair (36"-48"										
15	RCP Drainage Pipe; 29"x45" ERCP Drainage										
	Pipe)	2600	LF	\$44.00	\$114,400.00	\$40.00	\$104,000.00	\$90.39	\$235,014.00	\$61.55	\$160,030.00

				Southern Underground Industries		C&W pipeline,inc.		DP Develo	pment, LLC.	Intercounty Engineering, Inc.	
				1454 S.	W. 13th Court	13101 N.W.	42nd Avenue	2240 N.W.	22nd Street	1925 N.W	. 18th Street
				Pompano	Beach, FL 33069	Opa-Lock	a, FL 33054	Pompano Be	each, FL 33069	Pompano Be	each, Fl 33069
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
16	Type C Drainage Inlet w/Casting	46	EA	\$2,525.00	\$116,150.00	\$3,750.00	\$172,500.00	\$3,030.54	\$139,404.84	\$3,428.34	\$157,703.64
17	Type E Drainage Inlet w/Casting	9	EA	\$3,350.00	\$30,150.00	\$4,000.00	\$36,000.00	\$4,961.77	\$44,655.93	\$4,696.31	\$42,266.79
18	Type E Drainage Inlet w/Casting & PRB	1	EA	\$5,300.00	\$5,300.00	\$4,200.00	\$4,200.00	\$5,750.84	\$5,750.84	\$5,228.64	\$5,228.64
19	8' Diameter Manhole w/Casting	1	EA	\$9,300.00	\$9,300.00	\$6,500.00	\$6,500.00	\$10,608.89	\$10,608.89	\$13,502.96	\$13,502.96
20	7' Diameter Manhole w/Casting	3	EA	\$8,800.00	\$26,400.00	\$7,500.00	\$22,500.00	\$9,671.28	\$29,013.84	\$10,695.90	\$32,087.70
21	6' Diameter Manhole w/Casting	5	EA	\$6,820.00	\$34,100.00	\$6,650.00	\$33,250.00	\$10,847.06	\$54,235.30	\$7,781.53	\$38,907.65
22	6' Diameter Manhole w/ PRB	1	EA	\$8,900.00	\$8,900.00	\$7,250.00	\$7,250.00	\$7,136.75	\$7,136.75	\$9,826.00	\$9,826.00
23	5' Diameter Manhole w/Casting	3	EA	\$5,500.00	\$16,500.00	\$6,800.00	\$20,400.00	\$4,465.64	\$13,396.92	\$5,618.35	\$16,855.05
24	5' Diameter Manhole w/Casting & Inlet	9	EA	\$5,600.00	\$50,400.00	\$6,100.00	\$54,900.00	\$4,708.04	\$42,372.36	\$5,967.11	\$53,703.99
25	5' Diameter Manhole w/Casting & PRB	1	EA	\$7,200.00	\$7,200.00	\$6,850.00	\$6,850.00	\$15,647.92	\$15,647.92	\$6,585.57	\$6,585.57
26	4' Diameter Manhole w/Casting	6	EA	\$4,500.00	\$27,000.00	\$6,350.00	\$38,100.00	\$5,350.50	\$32,103.00	\$4,210.58	\$25,263.48
27	Remove Existing Drainage Structure	24	EA	\$700.00	\$16,800.00	\$1,400.00	\$33,600.00	\$742.20	\$17,812.80	\$3,953.60	\$94,886.40
28	12" RCP Drainage Pipe	45	LF	\$45.00	\$2,025.00	\$150.00	\$6,750.00	\$80.12	\$3,605.40	\$49.36	\$2,221.20
29	15" RCP Drainage Pipe	1200	LF	\$50.00	\$60,000.00	\$90.00	\$108,000.00	\$95.19	\$114,228.00	\$45.72	\$54,864.00
30	18" RCP Drainage Pipe	4100	LF	\$85.00	\$348,500.00	\$100.00	\$410,000.00	\$81.53	\$334,273.00	\$54.27	\$222,507.00
31	30" RCP Drainage Pipe	530	LF	\$129.00	\$68,370.00	\$185.00	\$98,050.00	\$106.09	\$56,227.70	\$90.20	\$47,806.00
32	36" RCP Drainage Pipe	2700	LF	\$160.00	\$432,000.00	\$190.00	\$513,000.00	\$132.87	\$358,749.00	\$115.03	\$310,581.00
33	48" RCP Drainage Pipe	975	LF	\$235.00	\$229,125.00	\$198.00	\$193,050.00	\$187.50	\$182,812.50	\$167.19	\$163,010.25
34	14" x 23" ERCP Drainage Pipe	470	LF	\$105.00	\$49,350.00	\$95.00	\$44,650.00	\$108.51	\$50,999.70	\$68.22	\$32,063.40
35	19" x 30" ERCP Drainage Pipe	85	LF	\$140.00	\$11,900.00	\$125.00	\$10,625.00	\$148.32	\$12,607.20	\$98.87	\$8,403.95
36	24" x 38" ERCP Drainage Pipe	200	LF	\$175.00	\$35,000.00	\$150.00	\$30,000.00	\$200.01	\$40,002.00	\$123.61	\$24,722.00
37	29" x 45" ERCP Drainage Pipe	40	LF	\$250.00	\$10,000.00	\$195.00	\$7,800.00	\$262.51	\$10,500.40	\$167.96	\$6,718.40
	Outfall - 35LF-48" CAP, Bank Regrading,										
38	Restoration (incl. asphalt sidewalk										
	replacement), Concrete Collar, Rock Rip-Rap										
	& Filter Fabric at C-14 Canal (Dwg. C-26)	1	LS	\$51,000.00	\$51,000.00	\$20,000.00	\$20,000.00	\$14,542.83	\$14,542.83	\$59,922.00	\$59,922.00
	39. Outfall - 35LF-36" CAP with Endwall per										
30	FDOT Index 250, Bank Regrading,										
39	Restoration, Rip-Rap at B-1 Canal (Dwg. C-										
	16)	1	LS	\$30,000.00	\$30,000.00	\$18,000.00	\$18,000.00	\$10,927.98	\$10,927.98	\$35,037.00	\$35,037.00

				Southern Underground Industries		C&W pi	peline,inc.	DP Develo	pment, LLC.	Intercounty Engineering, Inc.	
				1454 S.\	W. 13th Court	13101 N.W.	42nd Avenue	2240 N.W.	22nd Street	1925 N.W	. 18th Street
				Pompano	Beach, FL 33069	Opa-Lock	a, FL 33054	Pompano Be	each, FL 33069	Pompano B	each, Fl 33069
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	Outfall - 20LF-36" CAP with Endwall per										
40	FDOT Index 250, Bank Regrading,										
40	Restoration, Concrete Collar, Rip-Rap at SW										
	14th Ct (Dwg. C-5A)	1	LS	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$8,696.81	\$8,696.81	\$51,404.00	\$51,404.00
41	Drainage Structure Asphalt Inlet Apron	40	EA	\$600.00	\$24,000.00	\$550.00	\$22,000.00	\$675.17	\$27,006.80	\$2,118.00	
42	Clean Existing Drainage Pipe	530	LF	\$15.00	\$7,950.00	\$8.00	\$4,240.00	\$16.29	\$8,633.70	\$21.18	\$11,225.40
43	Remove Existing Drainage Pipe	2600	LF	\$22.00	\$57,200.00	\$8.00	\$20,800.00	\$12.31	\$32,006.00	\$7.06	\$18,356.00
44	Connect to Existing Drainage Pipe										
44	w/Concrete Collar	7	EA	\$5,200.00	\$36,400.00	\$400.00	\$2,800.00	\$2,049.42	\$14,345.94	\$2,682.80	\$18,779.60
45	Swale Grading & Sod	13300	SY	\$7.00	\$93,100.00	\$6.00	\$79,800.00	\$8.39	\$111,587.00	\$2.12	\$28,196.00
46	Stormwater Bypass Pumping	1	LS	\$23,500.00	\$23,500.00	\$35,000.00	\$35,000.00	\$33,335.67	\$33,335.67	\$169,440.00	\$169,440.00
47	Remove & Dispose of Trees	6	EA	\$2,300.00	\$13,800.00	\$750.00	\$4,500.00	\$2,456.57	\$14,739.42	\$2,682.80	\$16,096.80
48	Tree Protection	1	LS	\$6,400.00	\$6,400.00	\$500.00	\$500.00	\$8,614.90	\$8,614.90	\$5,648.00	\$5,648.00
49	Landscape (Tree) Installation w/ Bubbler,										
49	Including Maintenance	6	EA	\$2,500.00	\$15,000.00	\$650.00	\$3,900.00	\$1,602.19	\$9,613.14	\$2,965.20	\$17,791.20
50											
30	Remove & Reinstall Existing Traffic Sign	5	EA	\$454.00	\$2,270.00	\$650.00	\$3,250.00	\$351.92	\$1,759.60	\$3,530.00	\$17,650.00
51	Furnish & Install New Sign	2	EA	\$600.00	\$1,200.00	\$3,500.00	\$7,000.00	\$351.92	\$703.84	\$2,118.00	\$4,236.00
52	Furnish & Install New Sign Post	2	EA	\$256.00	\$512.00	\$750.00	\$1,500.00	\$310.86	\$621.72	\$2,118.00	\$4,236.00
53	Remove Abandoned Force Main	50	LF	\$75.00	\$3,750.00	\$120.00	\$6,000.00	\$34.50	\$1,725.00	\$141.20	\$7,060.00
54	Flowable Fill	50	CY	\$375.00	\$18,750.00	\$220.00	\$11,000.00	\$194.86	\$9,743.00	\$329.56	\$16,478.00
55	Replace Sanitary Sewer Laterals	20	EA	\$1,684.00	\$33,680.00	\$1,800.00	\$36,000.00	\$3,798.25	\$75,965.00	\$1,819.22	\$36,384.40
56	Miscellaneous Restoration	1	LS	\$5,100.00	\$5,100.00	\$19,500.00	\$19,500.00	\$32,892.25	\$32,892.25	\$35,300.00	\$35,300.00
57	Existing Utility Relocation/Coordination										
	w/Existing Utility Companies	1	AL	150000	\$150,000.00	150000	\$150,000.00	150000	\$150,000.00	150000	\$150,000.00
58	Furnish Landscape (Tree) Material	1	AL	15000	\$15,000.00	15000	\$15,000.00	15000	\$15,000.00	15000	\$15,000.00
59	Permit Fees Allowance	1	AL	5000	\$5,000.00	5000	\$5,000.00	5000	\$5,000.00	5000	\$5,000.00
60	Indemnification	1	AL	10	\$10.00	10	\$10.00	10	\$10.00	10	\$10.00
	Total Pr		Total Price	\$2,989,062.00	Total Price	\$3,154,475.00	Total Price	\$3,173,768.42	Total Price	\$3,230,321.97	

				Foster Marine	Contractors, Inc.	·		onstruction Company	Lanzo Constr	uction Company	
				3180 Fairlar	ne Farm Road	2601 W	iles Road	1081 N	N.W. 12th Terrace	125 S.E	. 5th Court
				Wellingto	n, FL 33414	Pompano Be	each, Fl 33073	Pompar	no Beach, FL 33069	Deerfield B	each, FL 33441
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
1	Site Mobilization/ Demobilization	1	LS	\$165,000.00	\$165,000.00	\$164,000.00	\$164,000.00	\$103,300.00	\$103,300.00	\$215,000.00	\$215,000.00
2	Bonds and Insurance	1	LS	\$66,000.00	\$66,000.00	\$62,000.00	\$62,000.00	\$54,416.91	\$54,416.91	\$85,000.00	\$85,000.00
3	Maintenance of Traffic	1	LS	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$99,740.00	\$99,740.00	\$71,624.00	\$71,624.00
4	As-Built Record Drawings	1	LS	\$43,000.00	\$43,000.00	\$40,000.00	\$40,000.00	\$98,147.50	\$98,147.50	\$47,924.00	\$47,924.00
5	NPDES Permit/Erosion Protection Measures/Turbidity Barriers	1	LS	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$29,633.65	\$29,633.65	\$21,096.00	\$21,096.00
6	Professional Video & Construction Photographs	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,225.00	\$3,225.00	\$3,541.00	\$3,541.00
7	Concrete Sidewalk Restoration (4" thick)	90	SF	\$16.00	\$1,440.00	\$23.00	\$2,070.00	\$22.37	\$2,013.30	\$64.00	\$5,760.00
8	Asphalt Driveway Apron Replacement	23000	SF	\$5.50	\$126,500.00	\$10.00	\$230,000.00	\$3.61	\$83,030.00	\$4.00	\$92,000.00
9	Type D Curb Removal and Replacement	50	LF	\$30.00	\$1,500.00	\$35.00	\$1,750.00	\$40.85	\$2,042.50	\$48.00	\$2,400.00
10	Curb Ramp with ADA-Compliant Tactile Surface Mat per FDOT Index 522	1	EA	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00	\$2,150.00	\$2,150.00	\$2,387.00	\$2,387.00
11	Remove Existing Pavement & Install Sod	380	SY	\$20.00	\$7,600.00	\$23.00	\$8,740.00	\$21.50	\$8,170.00	\$28.00	\$10,640.00
12	Pavement Markings	1	LS	\$15,000.00	\$15,000.00	\$29,000.00	\$29,000.00	\$18,581.38	\$18,581.38	\$29,328.00	\$29,328.00
13	Open Cut Pavement Trench Repair (12"-18" RCP Drainage Pipe)	4100		\$67.00	\$274,700.00	\$38.00	\$155,800.00	\$36.99	\$151,659.00	\$25.00	\$102,500.00
14	Open Cut Pavement Trench Repair (24"-30" RCP Drainage 14Pipe; 19"x30" ERCP Drainage Pipe; 24"x38" ERCP Drainage	810	LF	\$78.00	\$63,180.00	\$40.00	\$32,400.00	\$47.60	\$38,556.00	\$26.00	\$21,060.00
15	Open Cut Pavement Trench Repair (36"-48" RCP Drainage Pipe; 29"x45" ERCP Drainage Pipe)	2600	LF	\$82.00	\$213,200.00	\$46.00	\$119,600.00	\$39.91	\$103,766.00	\$37.00	\$96,200.00

				Foster Marine	Contractors, Inc.			Stanford C	onstruction Company	Lanzo Construction Company	
				3180 Fairla	ne Farm Road	2601 W	iles Road	1081 N	N.W. 12th Terrace	125 S.	E. 5th Court
				Wellingto	n, FL 33414	Pompano Be	each, Fl 33073	Pompar	no Beach, FL 33069	Deerfield E	Beach, FL 33441
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
16	Type C Drainage Inlet w/Casting	46	EA	\$3,500.00	\$161,000.00	\$3,000.00	\$138,000.00	\$3,988.23	\$183,458.58	\$4,782.00	\$219,972.00
17	Type E Drainage Inlet w/Casting	9	EA	\$5,100.00	\$45,900.00	\$4,000.00	\$36,000.00	\$4,892.36	\$44,031.24	\$7,783.00	\$70,047.00
18	Type E Drainage Inlet w/Casting & PRB	1	EA	\$5,900.00	\$5,900.00	\$4,500.00	\$4,500.00	\$7,914.65	\$7,914.65	\$10,734.00	\$10,734.00
19	8' Diameter Manhole w/Casting	1	EA	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.00	\$11,721.56	\$11,721.56	\$22,288.00	\$22,288.00
20	7' Diameter Manhole w/Casting	3	EA	\$14,000.00	\$42,000.00	\$11,000.00	\$33,000.00	\$7,700.37	\$23,101.11	\$18,131.00	\$54,393.00
21	6' Diameter Manhole w/Casting	5	EA	\$9,000.00	\$45,000.00	\$6,000.00	\$30,000.00	\$7,885.95	\$39,429.75	\$13,732.00	\$68,660.00
22	6' Diameter Manhole w/ PRB	1	EA	\$9,500.00	\$9,500.00	\$7,000.00	\$7,000.00	\$9,689.80	\$9,689.80	\$12,772.00	\$12,772.00
23	5' Diameter Manhole w/Casting	3	EA	\$5,500.00	\$16,500.00	\$4,400.00	\$13,200.00	\$5,827.84	\$17,483.52	\$10,226.00	\$30,678.00
24	5' Diameter Manhole w/Casting & Inlet	9	EA	\$6,000.00	\$54,000.00	\$4,800.00	\$43,200.00	\$5,212.10	\$46,908.90	\$6,056.00	\$54,504.00
25	5' Diameter Manhole w/Casting & PRB	1	EA	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$7,757.11	\$7,757.11	\$8,464.00	\$8,464.00
26	4' Diameter Manhole w/Casting	6	EA	\$4,500.00	\$27,000.00	\$3,600.00	\$21,600.00	\$5,624.08	\$33,744.48	\$7,208.00	\$43,248.00
27	Remove Existing Drainage Structure	24	EA	\$800.00	\$19,200.00	\$700.00	\$16,800.00	\$1,156.35	\$27,752.40	\$1,366.00	\$32,784.00
28	12" RCP Drainage Pipe	45	LF	\$63.00	\$2,835.00	\$180.00	\$8,100.00	\$160.14	\$7,206.30	\$238.00	\$10,710.00
29	15" RCP Drainage Pipe	1200	LF	\$94.00	\$112,800.00	\$113.00	\$135,600.00	\$121.61	\$145,932.00	\$164.00	\$196,800.00
30	18" RCP Drainage Pipe	4100	LF	\$76.00	\$311,600.00	\$106.00	\$434,600.00	\$93.27	\$382,407.00	\$191.00	\$783,100.00
31	30" RCP Drainage Pipe	530	LF	\$128.00	\$67,840.00	\$169.00	\$89,570.00	\$174.32	\$92,389.60	\$228.00	\$120,840.00
32	36" RCP Drainage Pipe	2700	LF	\$147.00	\$396,900.00	\$190.00	\$513,000.00	\$175.19	\$473,013.00	\$265.00	\$715,500.00
33	48" RCP Drainage Pipe	975	LF	\$174.00	\$169,650.00	\$253.00	\$246,675.00	\$210.09	\$204,837.75	\$346.00	\$337,350.00
34	14" x 23" ERCP Drainage Pipe	470	LF	\$94.00	\$44,180.00	\$148.00	\$69,560.00	\$122.40	\$57,528.00	\$211.00	\$99,170.00
35	19" x 30" ERCP Drainage Pipe	85	LF	\$123.00	\$10,455.00	\$172.00	\$14,620.00	\$280.06	\$23,805.10	\$255.00	\$21,675.00
36	24" x 38" ERCP Drainage Pipe	200	LF	\$157.00	\$31,400.00	\$195.00	\$39,000.00	\$235.38	\$47,076.00	\$299.00	\$59,800.00
37	29" x 45" ERCP Drainage Pipe	40	LF	\$192.00	\$7,680.00	\$251.00	\$10,040.00	\$365.70	\$14,628.00	\$359.00	\$14,360.00
38	Outfall - 35LF-48" CAP, Bank Regrading, Restoration (incl. asphalt sidewalk replacement), Concrete Collar, Rock Rip-Rap & Filter Fabric at C-14 Canal (Dwg. C-26)	1	LS	\$45,000.00	\$45,000.00	\$37,000.00	\$37,000.00	\$207,672.00	\$207,672.00	\$25,017.00	\$25,017.00
39	39. Outfall - 35LF-36" CAP with Endwall per FDOT Index 250, Bank Regrading, Restoration, Rip-Rap at B-1 Canal (Dwg. C-16)	1	LS	\$16,500.00	\$16,500.00	\$19,000.00		\$108,472.00	\$108,472.00	\$38,515.00	\$38,515.00

				Foster Marine Contractors, Inc.		David Manci	ini & Sons, Inc.	Stanford C	onstruction Company	Lanzo Construction Company	
				3180 Fairla	ne Farm Road	2601 W	iles Road	1081 N	N.W. 12th Terrace	125 S.	E. 5th Court
				Wellingto	n, FL 33414	Pompano Be	each, Fl 33073	Pompar	no Beach, FL 33069	Deerfield I	Beach, FL 33441
Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended
	Outfall - 20LF-36" CAP with Endwall per										
40	FDOT Index 250, Bank Regrading,										
40	Restoration, Concrete Collar, Rip-Rap at SW										
	14th Ct (Dwg. C-5A)	1	LS	\$12,500.00	\$12,500.00	\$21,000.00	\$21,000.00	\$85,724.00	\$85,724.00	\$11,317.00	\$11,317.00
41	Drainage Structure Asphalt Inlet Apron	40	EA	\$500.00	\$20,000.00	\$1,242.00	\$49,680.00	\$382.63	\$15,305.20	\$199.00	\$7,960.00
42	Clean Existing Drainage Pipe	530	LF	\$10.00	\$5,300.00	\$29.00	\$15,370.00	\$44.48	\$23,574.40	\$8.00	\$4,240.00
43	Remove Existing Drainage Pipe	2600	LF	\$15.00	\$39,000.00	\$12.00	\$31,200.00	\$10.10	\$26,260.00	\$11.00	\$28,600.00
44	Connect to Existing Drainage Pipe										
44	w/Concrete Collar	7	EA	\$1,500.00	\$10,500.00	\$5,000.00	\$35,000.00	\$3,096.00	\$21,672.00	\$1,220.00	\$8,540.00
45	Swale Grading & Sod	13300	SY	\$8.00	\$106,400.00	\$9.00	\$119,700.00	\$4.14	\$55,062.00	\$8.00	\$106,400.00
46	Stormwater Bypass Pumping	1	LS	\$25,000.00	\$25,000.00	\$11,500.00	\$11,500.00	\$21,800.11	\$21,800.11	\$17,235.00	\$17,235.00
47	Remove & Dispose of Trees	6	EA	\$700.00	\$4,200.00	\$463.00	\$2,778.00	\$1,208.65	\$7,251.90	\$796.00	\$4,776.00
48	Tree Protection	1	LS	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00	\$16,074.00	\$16,074.00	\$9,550.00	\$9,550.00
49	Landscape (Tree) Installation w/ Bubbler,										
49	Including Maintenance	6	EA	\$10,000.00	\$60,000.00	\$2,300.00	\$13,800.00	\$4,025.15	\$24,150.90	\$16,474.00	\$98,844.00
50											
50	Remove & Reinstall Existing Traffic Sign	5	EA	\$1,300.00	\$6,500.00	\$175.00	\$875.00	\$376.25	\$1,881.25	\$1,886.00	\$9,430.00
51	Furnish & Install New Sign	2	EA	\$1,200.00	\$2,400.00	\$400.00	\$800.00	\$483.75	\$967.50	\$1,727.00	\$3,454.00
52	Furnish & Install New Sign Post	2	EA	\$750.00	\$1,500.00	\$300.00	\$600.00	\$215.00	\$430.00	\$1,074.00	\$2,148.00
53	Remove Abandoned Force Main	50	LF	\$15.00	\$750.00	\$58.00	\$2,900.00	\$35.56	\$1,778.00	\$3.00	\$150.00
54	Flowable Fill	50	CY	\$185.00	\$9,250.00	\$160.00	\$8,000.00	\$130.78	\$6,539.00	\$184.00	\$9,200.00
55	Replace Sanitary Sewer Laterals	20	EA	\$2,000.00	\$40,000.00	\$3,200.00	\$64,000.00	\$1,917.81	\$38,356.20	\$1,952.00	\$39,040.00
56	Miscellaneous Restoration	1	LS	\$20,000.00	\$20,000.00	\$11,500.00	\$11,500.00	\$65,891.54	\$65,891.54	\$1,592.00	\$1,592.00
57	Existing Utility Relocation/Coordination										
	w/Existing Utility Companies	1	AL	150000	\$150,000.00	150000	\$150,000.00	150000	\$150,000.00	150000	\$150,000.00
58	Furnish Landscape (Tree) Material	1	AL	15000	\$15,000.00	15000	\$15,000.00	15000	\$15,000.00	15000	\$15,000.00
59	Permit Fees Allowance	1	AL	5000	\$5,000.00	5000	\$5,000.00	5000	\$5,000.00	5000	\$5,000.00
60	Indemnification	1	AL	10	\$10.00	10	\$10.00	10	\$10.00	10	\$10.00
				Total Price	\$3,334,270.00	Total Price	\$3,462,738.00	Total Price	\$3,599,119.09	Total Price	\$4,390,327.00

Line #	Attribute Name	DBF CONSTRUCTION LLC	ENCO, LLC	Man-Con Incorporated	Southern Underground Industries	C&W pipeline,inc.	DP Development,
1		No	No	No		• •	No
2	Drug-Free Workplace	Yes	Yes	Yes	Yes	Yes	Yes
3	Terms & Conditions	Agree	Agree	Agree	Agree	Agree	Agree
4	Acknowledgement of Addenda	Yes	Yes	Yes	Yes	Yes	Yes
5	Local Business Participation Percentage	10.3%			10%		58.32%
6	Vendor Certification Regarding Scrutinized Companies Lists (Any Dollor Amount)	Yes	Yes	Yes	Yes	Yes	Yes
7	Local Business	Yes	No	No		No	Yes

Intercounty Engineering, Inc.	Foster Marine Contractors, Inc.	David Mancini & Sons, Inc.	Stanford Construction Company (Stanford & Sons Trucking Corporation)	Lanzo Construction Company (Lanzo Construction Co., Florida)
No	No	No	No	No
Yes	Yes	Yes	Yes	Yes
Agree	Agree	Agree	Agree	Agree
Yes	Yes	Yes	Yes	Yes
70%		10%	100%	2%
Yes	Yes	Yes	Yes	Yes
Yes	No	No	Yes	No